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3.9 Energy Calibration
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3.93 0OOO0OUODOO ADC channelD OO OO

PWOOOOOOOOOO3mmODODOOO0OOO0OO0OODOODODODODO ADCODOD Pedestal
O000000O0EGS40000000DOO0O0OOO0ODOOOOOODOOODOOODOOO

EGS4000000 depositenergy 00000000 O0DOOO0ODOOOODOOODOODOOOO
0000000000000 00O000D0O00DO000O0O0D0O00 fittingdOODO0ODODO fitting
O00000000000000 ¢0 channel 000000000000000000 0 =aym0O
000000 a000000mOO0O0OD0OODOO0OOfittingD00O0O0OOODOOOOO

energychannel 0

—(ch — E - par(3))?

ADC(ch) = par(1)] EZI {EGS(E) 217m exp( = )} (3.20)
0000 =par(2)\/E - par(3) (3.21)
ADC/(ch) ADC 00 Pedestal DO DODOOO0O0O0O0OO channel 0000000
EGS(E) EGSO000000D00OD0ODOODOOD0O0O0O FOOOODOO
par(l) : O0OOOO factor
par(2) cOOODOO
par(3) 0000000 ADCchannel D000 factor

00 fittingOD OO fittingOOODOO0O0OO0O par(3)00000ADC channel 0 000000000
O00000OD0EGS40 deposit energy 00 000000000000 100 1000MeV OO0 1000
channel O O 0O O

ADCch l
Energy:MMeV
par(3)
OO0O00OADCchannel 00000000 OO0O0OOO
03200 0000000000000000000000O0O fittingDOO0OO0OOODODOOO
0000000000000 00000D000O000 5MeV OO 10056MeV OO 10MeV ODO O

100channel OO0 O OO OO0OO

ADCch l
Energy = LU AN 10MeV

par(3)

ggod

71



000000 EGSO00ODOO fittingD OO fittingDOODOOODOO 34900000

i D 813
L Entries 681
70 Mean 896.9
i RMS 204.8
i X/ndf 5812 / 36
- P1 1.557
60 - P2 1.612
i P3 13.62
50
40
30
20
10 -
o (L Wﬁﬂ”ﬂ \ \ \
0 500 1000 1500 2000 2500

fitting

0 349: 000000 EGSOOOODO fittingODODO fitO0O 0O

03490000 fittingO OO OO par(3)=13.620 00 ADC=1000ch O deposit energy

1000
Energy = 13.62 x 10MeV

~ T734MeV

l

gobooooooog

72



3.94 GainOOOOO
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